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Z =joL=jx2xxxf xL=jx2x3.14x1x10° x3x107° = j18.84[Q]
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Z =10 + (~7.39)? L tan* (%639) =12.43/-36.5° [Q]
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| =~ = - £20° - (~-36.5°) = 0.805.,56.5° [V]
Z 1243/-365° 12.43
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V =12 =2/30°x12.43/ —36.5° =2x12.43/30° + (—36.5°) = 24.86 £ — 6.5 [V]
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Z, =10co0s30°+ j10sin 30° = 8.66 + j5[Q]
Z, =10c0s70°+ j10sin 70° = 3.42 + j9.4[Q]

Z=7+72,=866+ j5+3.42+ ]9.4=12.09 + j14.4[Q]
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=+/12.09° +14.4° £ tan ™ (——) =18.8£50°[Q2]
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-V _30£-40° 30 400 50016, —00°[A]
Z 18.8/50° 18.8
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V =1Z =3£-40°x18.8250° =3x18.8£ —40° + 50° = 56.4210° [V]
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| oV 3022400 30 400 500 1.6 —90°A]
Z 188,50° 188

V1=1Z, =1.6£90°x10£30° =1.6x10-£90°+30° =162 - 60°[V]
(5)

Z 18.8450° 18.8

V2=1Z,=16£-90°x10£70°=1.6x10£—-90°+70° =162 —20°[V]
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(1)
Z, =10c0s30° + j10sin 30° =8.66 + J5[Q]
Z, =10c0s70° + j10sin 70° = 3.42 + j9.4[Q)]

_Z,Z, (8.66+j5)x(3.42+ j9.4) —17.38+ j98.5 (~17.38+ j98.5)(12.09 — j14.4)
Z,+Z, 866+ j5+3.42+j9.4 1209+ jl4.4  (12.09+ j14.4)(12.09 — j14.4)

=+/3.422 + 4.082 Ztan* (%) =5.32/50°[Q]

= 3.42 + j4.08[Q]
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=V _30£-40° 30 00 500 —5.64.—90° [A]
Z 5.32/50° 5.32

(3)

V =1Z =34£-40°x5.32/50° = 3x5.32/ — 40° + 50° = 16.17 £10° [V]



